
ARMOUR II BASKET FOR TOYOTA TACOMA 05-21/CHEVY COLORADO 15-21/ GMC CANYON 15-21/FORD 

RANGER 19-21/NISSAN FRONTIER 05-21/JEEP GLADIATOR 19-23 

Page 1 of 4 

 

 

 

 

 

 
INSTALLATION INSTRUCTIONS 

ARMOUR II BASKET FOR TOYOTA TACOMA 05-21/CHEVY 

COLORADO 15-21/ GMC CANYON 15-21/FORD RANGER 19-

21/NISSAN FRONTIER 05-21/JEEP GLADIATOR 19-23 

PART # BA3AR2 

 

 

 

 

 

 



ARMOUR II BASKET FOR TOYOTA TACOMA 05-21/CHEVY COLORADO 15-21/ GMC CANYON 15-21/FORD 

RANGER 19-21/NISSAN FRONTIER 05-21/JEEP GLADIATOR 19-23 

Page 2 of 4 

  

 

⚫ Please read the instruction completely for easy installation, which will also help you to avoid 

scratches or other potential damages to your appealing car.  

⚫ The figures here are for reference only and may have differences with the actual product you 

received, however they share the same assembly way. 

 

 

 

⚫ Mild soap may be used also to clean the product.  

⚫ Please periodically check and retighten all the hardware and clean the investment for a refresh 

look.  

 

 

NO. QTY NAME NO. QTY NAME 

○1  1 

 
FRONT CORSS BEAM 

○2  1 

  
REAR CORSS BEAM 

○3  3 

 
MIDDLE CORSS BEAM 

○4  1 

 
SIDE BEAM (L) 

○5  1 

  
SIDE BEAM (R) 

○6  2 

  
CONNECTING BRACKET (L&R) 

○7  2 

 
MOUNTING PLATE 

○8  20 

 
FLANGE HEX NUT M6 

Parts list 

Care and Cleaning 

Before Installation 



ARMOUR II BASKET FOR TOYOTA TACOMA 05-21/CHEVY COLORADO 15-21/ GMC CANYON 15-21/FORD 

RANGER 19-21/NISSAN FRONTIER 05-21/JEEP GLADIATOR 19-23 

Page 3 of 4 

○9  20 

 
ASSEMBLY BOLT M6-20 

○10  6 

 
FLANGE HEX NUT M8 

○11  6 
 

BUTTON HEAD ALLEN BOLT M8-
30 

○12  2 

 
FLAT WASHER D8 (8x24x2mm) 

○13  4 

 
FLAT WASHER D8 (8x16x1.6mm) 

○14  2 

 
ADHESIVE TAPE 1(L&R) 

○15  2 

 
ADHESIVE TAPE 4(L&R) 

   

 

 

 

Step1: Assemble beams with standard parts○8 ○9  as the following picture shown. Lock all the standard parts 

after adjust the position.     

 

 

 

 

 

Step2: Connect the roof basket with ARMOUR II roll bar with ○6 connecting bracket, then Lock all the standard 

Installation Steps 

○1  

○2  

○3  

○4  

○5  

○8 ○9  



ARMOUR II BASKET FOR TOYOTA TACOMA 05-21/CHEVY COLORADO 15-21/ GMC CANYON 15-21/FORD 

RANGER 19-21/NISSAN FRONTIER 05-21/JEEP GLADIATOR 19-23 

Page 4 of 4 

parts ○10○11○12○13  after adjust the position, as the following pictures shown.   

 

 

Step3: Installation completed and pick up all the tools. 

 

 

 

Any damages and losses caused by improper installation and application, goes beyond our quality  

warranty. 

NOTE 

○10○11 ○13  

○10○11 ○12○13  


